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CheckSum1 : Bprgfizor_1 - ZE[/IA/INEy Byte HYEE] -

EF 1 255 (MID * 2) — CID

CheckSum2 : Bprgfizor_2 » ZE[/IA/INEy Byte HYEE] -

EF T, ¢ 255 — (CheckSumi1~CheckSum?2 7 [EIHSE S 44 AT
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CheckSum2 = 255 - 100

Dummy = 0~255 = RS Z 8
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State=PutSentence(Sentence)
12C :
Out :
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Total_Len+Sentence_Len+ Sentence HYA/NRH] 20 F 2 o
Sentence(n)+Sentence(n-1)+...+ | ME{EGEEJHEME 20 7 » SH(EH PutWord —({iE+—
Sentence(0)+ {E=FE A
CheckSum2+Dummy State =0 [Tf o
In: =1 K-
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CmdBUS :
State =PutWord(mWord)
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Out :
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12C :
MID+91+CheckSum1+Dummy
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CmdBUS :
State =GetWord(mWord)

12C :
Out :
MID+92+CheckSum1+Dummy
In:
MID+Total_Length+State+
Word_Len+
Word(n)+Word(n-1)+....+
Word(0)+
CheckSum3
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CmdBUS :
State =GetSentence(Sentence)

12C :
Out :
MID+93+CheckSum1+Dummy
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Sentence_Len+
Sentence(n)+Sentence(n-1)+....+
Sentence(0)+
CheckSum3
Word _Len =n+1
n=0-~19

—REENCE G FREH] AT Sentence -

State =0 If -
=1 RHg-

CmdBUS :
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12C :
Out :
MID+95+CheckSum1+ID+
CheckSum2+Dummy
In:

MID+State+CheckSums3

State =0 If -
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CmdBUS :
State =DeleteSentence(1D)

12C :
Out :
MID+96+CheckSum1+ID+
CheckSum2+Dummy
In:
MID+State+CheckSum3
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CmdBUS :
DeleteAllSentence()
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MID+99+CheckSum1+Dummy
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CmdBUS :
State =GoRecognition()

12C :
Out :
MID+97+CheckSuml1+Dummy
In:
MID+State+CheckSum3
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CmdBUS :
State =GetRecognition(ID)

12C :
Out :
MID+98+CheckSuml1+Dummy
In:
MID+State+1D+CheckSum3

HUSsEE ramas R -
State =0, HakikLy -

=1, SRR -
PSSR ID ([ 1~50) °




FHIE:
Fpl 1

Peripheral mySR1 As SR1 Q@ 31 ' EIELHIETRS 31

Dim Result, State As Byte
Dim MyString As String * 16

Sub MAIN ()

mySR1.DeleteAllSentence ()

Pause 100 ' JE¥E 100 ms
MyString = "da jia hao" " RREF

mySR1.PutSentence (MyString)
mySR1.SaveSentence (1)

MyString = "zao an" =S
mySR1.PutSentence (MyString)
mySR1.SaveSentence (2)

MyString = "wu an" 'R
mySR1.PutSentence (MyString)
mySR1.SaveSentence (3)

MyString = "wan an" 'R

mySR1.PutSentence (MyString)
mySR1.SaveSentence (4)

mySR1.GoRecognition ()

Do

State = mySR1l.GetRecognition (Result) 'EUS(EHI&EE

IF State = 0 THEN
Debug CSRXY (1, 2), Result, CLREOL
END IF
Pause (1)
Loop
End Sub




Fpl 2

Peripheral mySR1 As SR1 Q@ 31 ' EIELHIETRS 31
Dim Result, State As Byte

Dim MyString As String * 16

Sub MAIN ()

mySR1.DeleteAllSentence ()

Pause 100 ' JE¥E 100 ms
mySR1.ResetSentence ()
MyString = "da" N

mySR1.PutWord (MyString)

MyString = "jia" !

R

mySR1.PutWord (MyString)
MyString = "hao" '
mySR1.PutWord (MyString)

mySR1.SaveSentence (1)

mySR1.GoRecognition ()

Do

State = mySR1l.GetRecognition (Result) 'HUS(EHI&EE
IF State = 0 THEN

Debug CSRXY (1, 2), Result, CLREOL
END IF

Pause (1)

Loop
End Sub
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Peripheral mySR1 As SR1 Q@ 31 ' EIELHIETRS 31
Dim Result, State As Byte
Sub MAIN ()

mySR1. LoadDefaultSentence (1) ' {HHE—ENEZER
mySR1.GoRecognition ()

Do

State = mySR1l.GetRecognition (Result) 'HUS(ENI&EE
IF State = 0 THEN

Debug CSRXY (1, 2), Result, CLREOL
END IF

Pause (1)
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